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There are 20 questions:
I. Questions 1 — 9 are multiple-choice, 5 marks each.
Fillin A, B, C, D, E in the boxes provided.
II. Questions 10 — 20 are fill-in-blanks, 8 marks each.

Fill in final answers, and no steps are needed.

I1:2¥ETE B85 4 Multiple Choice Questions 5 marks each

1. F#-FH % 8 RABATIFHERERE

When the square of an odd number is divided by &8, the remainder is

A.l B.3 C.5 D.7 E. t'%JE None of the above.

2. 6 @EH M, AC,AUO #Ah—3# EREAIEGER -

Number of different ways to arrange letters M, A, C, A,U, O in a row is

A .20 B.25 C.30 D.45 E. x_ %3k None of the above.

3. K 20207 ¢4 iF R ey @K -

Find the number of positive factors of 20202.
A 20 B.25 C.30 D.45 E. i %3k None of the above.

4. 69.708 = 58.09 =

A 11 B.115 C.1.2 D.125 E. L%k None of the above.

1 4

. B XQOY = + 3 » B 1024301 =

X+2Y 2X+

1
Define X0V = X7 + 29X 13’

A0 B.1 C.2 D.3 E. 3 LE%3E None of the above.

then 1902 4 3901 =

CREERAEAR A AR AR R N -

Find the least 2-digit number N which cannot be

expressed as a sum of 3 primes.
A.25 B.55 C.57 D.58 E. 1l E%3JE None of the above.

. #& ST B&EFAM ABCD At G &R EEGRE @M 8

If S, T are areas of white and colored regions in 2
rectangle ABCD, then y/

A S>T B.S<T C.8§=T D.S#T

E. Xt % JF None of the above. . .

CFHRA 0EMA EH BRI 5 BE B 25 XEHBWIF 0 -

e AZMHHM BRI T RE/SA 1L 4 K0 ALHAAHHKE -
There are 10 questions in a contest. 3 marks are awarded for every correct answer,
2 marks are deducted for every wrong answer, and no mark is given for every

unanswered question. The number of questions Ming answered is odd, and Ming’s

total marks is 11. Find the number of Ming’s correct answers.
A3 B.4 C.5 D.6 E.E%JF None of the above.

CAEANXY,Z 0 BEARERABTA RERKBT -

X R :BRMEEHRT 7 YR ‘BRI FRABTE —BERTA 7
FIATAMBRER He -
Each of 3 persons X, Y, Z is either an honest man or a liar.
X said “All of us are liars. ”
Y said “Only one of us is an honest man.”
Which of the following is true:
A X BT A Xisanhonest man B.Y ZEF Y is a liar
C. Z %K A Z is an honest man D. Z #8-F Z is a liar
E. 2Lt % 3k None of the above.
B 10-20 £F @\ - Questions 10-20 are at the back.
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Small box can pack at most 5 pens, and big box can pack at most 12 pens. It

Fill-in-blank Questions 8 marks each

requires A big boxes and B small boxes to pack 99 pens exactly, and there are

more than 10 small boxes. Find the minimum value M of A + B.
M=

#1,2,3,--- 9B H SEAREHET > BR— B 12 Ehe) 8B N> K N
R A -

Choose 8 different digits from 1,2,---,9 to form a 8-digit number N such that

N is divisible by 12. Find the largest N.
N =

B4 2 =02020- E¥ m n HFAEEH > L m R -

Given m,n are positive integers such that % = 0.2020-- -, find the smallest m.
m =

#1,2,3,--,2019, 2020 Bk n BER MK > RALFEREZEFER 40
KATETHR n 9FEKRME N -

Choose n different numbers from 1,2, -- ,2020, such that the difference of any
two chosen number is not equal to 4. Find the largest value N of all possible n.

N =

-23 31—
N % — ]
(V5P 3& ol 4&4& 0 kR P+Q-
23 31-2

1 P
Af T . in = Fi ‘
ter s1mphfymg fraction 3-12 + =3 we obtain 0 Find P+ @
P+Q=

1 1 1

% Evaluate S =
tF Bvaluate § = g0 + goomm o+ 7o
S =

+ 2019

16.

17.

18.

19.

20.

REFFIF 15 L—5k > BRERKEAT 50% AT 20% - ) :
—RFZEREIA?

The ticket of a football match is $15. If the ticket price is reduced, the number of
the tickets sold increases by 50%, and the total revenue increases by 20%. What

FefR 1%

is the ticket price T after reduction?

T =

EENWIFEHNXNXN > 28 N3 ol 22=2x2x2=8"

AR ERRELHERRARG LI RAB ARG I T 2 Ho -
Define the cube of N to be the product N x N x N, denoted by N3. For example
28 = 2 x 2 x 2 = 8. Find 4 consecutive positive integers such that the cube of the

largest one is the sum of the cubes of remaining 3 numbers.

( )"+ ( )+ ( ) = )’

ZHMABCHiEN235 Atk BX8 Cth A/ 90-
H#EF N NAEH2H S
The sum of 3 numbers A4, B,C is 235. A is 80 more than B. And C is 90 less

than A. Find the sum S of the highest common factor and the lowest common

RE=ZMBHOFAL

multiple of the 3 numbers.
S =

A% et B o B a A RBE 6w RFERETE
M,A,C,O mEEXFH -

Divide the square with solid lines on the right into 4 pieces of

<0oo»
<> 0<Z
o> >0
NnZ200

same shapes such that each piece contains 4 letters M, A, C, O.

#4, = %, (), [ v TERAERAENHBEERTF » FAEHRARL
Choose symbols from +, —, x, +, (), [ ] repeatedly to fill in
the following expression such that the equality holds:




